Response Ratio

Methyl lodide

Amount Ratio

Resp Ratio = 2.57e-001 * Amt - 1.78e-002

Coef of Det (r"2) = 0.998

Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D082218S.M

Calibration Table Last Updated: Thu Aug 23 11:31:20 2018




Chloroethane
Response Ratio

Amount Ratio

R = -3.26e-002 A*A + 1.39e-001 A - 3.78e-003
Coef of Det (r"2) = 0.998 Curve Fit: Quadratic

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D082218S .M
Calibration Table Last Updated: Thu Aug 23 11:31:20 2018




n-Butylbenzene
Response Ratio

45—

Amount Ratio

R = -4.49e-001 A*A + 3.02e+000 A + 5.94e-002
Coef of Det (r"2) = 0.998 Curve Fit: Quadratic

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D082218S .M
Calibration Table Last Updated: Thu Aug 23 11:31:20 2018




Methylene Chloride
Response Ratio

Amount Ratio

Resp Ratio = 4.74e-001 * Amt + 3.81e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D082218S .M
Calibration Table Last Updated: Thu Aug 23 11:31:20 2018




